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SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. Define Finite and Infinite Set.
2. Define Set.
3. If A = {0,1,2}. Find all the subsets of A.
4. Find the slope of the line joining the points (2,3), (4.-5).
5. Find the slope of the line 
6. Define Matrix.
7. Define Square matrix.
8. Define Diagonal matrix.
9. If A=   	 2      3         B=        1    -2
            	 5     -4                      6     8   
         		-7      0                      9    -3
Find  4A + 2B.
10. Write the derivatives for the following function i)     ii) 
11. Define Simple interest.
12. Define Compound interest.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13. State Demorgan’s Laws and prove using Venn Diagrams.
14. If A = {Ram, Rahim, Richard} and B = {Githa, Glory}. Find A x B.
15. Show that the points A(6,6), B(2,3) and C(4,7) are the vertices of a right angled triangle.
16. If A =	  2   5      	 B =     1     -1
[bookmark: _GoBack]        		  1   3            	           -3      2
Find AB and BA. Is AB = BA?

17. If A =  	2  -3  1          B =     2   1   3         	and  C =     3  1   0
      		 	1   4  0                     4   5   0                        	      -1  2  -4
                            	    	       -2   1   1                     	        0  1   5
Prove that A(B+C) = AB + AC.
18. Integrate  with respect to x.
19. The banker’s gain on a certain bill due 3 months hence is `3.6. If the rate of interest is 8%. Find the amount of the bill.
 (
[P.T.O.]
)
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions.
20. A market research group conducted a survey of 1000 consumers and reported that 720 consumers liked the product A and 450 consumers like the product B. What is the least number that must have liked both products?       
21.  Find the equation of the line passing through (2,-3) and (-4,5).
22.  For the matrices      A =           B =      and     C =   Verify that A(BC)=(AB)C.
23.  Find the point of inflexion of the curve y = 2x4 – 4x3 + 3.
			
——————


1

